July 4, 2018 12:49 PM

$$\dot{x} = \begin{pmatrix} -1 & 2 \\ 4 & -3 \end{pmatrix} \times + \begin{pmatrix} -1 \\ -1 \end{pmatrix}$$

1) Find ejgenture:

1) Find equations:

$$\lambda = \frac{Tr(A)}{2} + \frac{1}{2} TrA^{2} - 4 det A$$

$$= -\frac{4}{2} + \frac{1}{2} \sqrt{16 - 4 \cdot (-4 - 8)}$$

$$= -\frac{4}{2} + \frac{1}{2} 2 \sqrt{4 + 12} = - = -5, 1$$

$$\lambda_{1} = -5, \lambda_{2} = 1$$

$$\lambda_{2} = -5, \lambda_{3} = 1$$

$$\lambda_{3} = -5, \lambda_{4} = 1$$

$$\lambda_{4} = -5, \lambda_{5} = 1$$

$$\lambda_{5} = -6, \lambda_{5} = 1$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} = (\lambda_{7} - d), \lambda_{7} = (\lambda_{7} - d)$$

$$\lambda_{7} =$$

$$V_{1} = \begin{pmatrix} -5 - (-3) \\ 4 \end{pmatrix} = 4\begin{pmatrix} 2 \\ 1 \end{pmatrix}$$

$$V_{2} = \begin{pmatrix} 1 - (-3) \\ 4 \end{pmatrix} = 4\begin{pmatrix} 1 \\ 1 \end{pmatrix}$$

3) General s/n

$$\chi = c_1 e^{-5t} \begin{pmatrix} 2 \\ 1 \end{pmatrix} + c_2 e^t \begin{pmatrix} 1 \\ 1 \end{pmatrix}$$

$$\chi' = A \times + (\frac{-1}{-1}) = \chi' = 0$$

$$X' = A \times + (\frac{1}{2}1) \Rightarrow A \times + V = 0$$

$$\Rightarrow X = -A^{-1}V = -A^{-1}(\frac{1}{1}) = A^{-1}(\frac{1}{1})$$

$$1f Av = Av \Rightarrow A^{-1}v = \frac{1}{4}V$$

$$X = Ge^{5t}(\frac{1}{2}) + (\frac{1}{2}e^{t}(\frac{1}{1}) + (\frac{1}{4})$$

$$4) \text{ Do min In } \times \times \text{ and } (\frac{1}{1})$$

$$\Rightarrow So \text{ Solution } \text{ Xith is on this panel } (\frac{1}{1})$$

$$\Rightarrow \sum_{i=1}^{4} Aiddle$$

$$\Rightarrow \sum_{i=1}$$

 $\chi' = A \times + V$ 

1) 
$$\chi_1 = A \chi_1 \Rightarrow \chi_1 = 7$$

2) Assume that 
$$x_2=0$$
 =>  $Ax_2+V=0$   
=>  $x_2=-A^{-1}V$ 

3) 
$$X = X_1 + X_2$$
  

$$(X_1 + X_2)' - A(X_1 + X_2) - V$$

$$-X_1' - AX_1 + X_2'' - (AX_2 + V)$$

$$-X_1' - AX_1 = 0$$

$$\chi = \begin{pmatrix} 2-1 \\ 3-2 \end{pmatrix} \times + \begin{pmatrix} -1 \\ -3 \end{pmatrix}$$

s) Find In eigenvalus

$$\gamma = \frac{\text{Tv}(A)}{2} \pm \frac{1}{2} \sqrt{\text{Tv}(A)^2 - 4 \cdot 4 \cdot 4}$$

$$= \frac{2-2}{2} \pm \frac{1}{2} \sqrt{(2-2)^2 - 4 \cdot (2 \cdot (2) - (4) \cdot 3)}$$

$$= 0 \pm \frac{1}{2} \sqrt{0 - 4 \cdot (-4 + 3)} = \pm 1$$

$$V_{1} = \begin{pmatrix} \lambda_{1} - \lambda_{2} \\ C \end{pmatrix} = \begin{pmatrix} 1 - (-2) \\ 3 \end{pmatrix} = \begin{pmatrix} 3 \\ 3 \end{pmatrix} = 3 \cdot \begin{pmatrix} 1 \\ 1 \end{pmatrix}$$

$$V_{2} = \begin{pmatrix} \lambda_{2} - \lambda_{2} \\ C \end{pmatrix} = \begin{pmatrix} -1 - (-2) \\ 3 \end{pmatrix} = \begin{pmatrix} 1 \\ 3 \end{pmatrix}$$

3) 
$$\chi = 0$$
 =>  $A \times_2 + (-\frac{1}{3}) = 0$   
(\*)  $A^{-1}(\frac{1}{3}) = \frac{1}{3} = 0$   
 $= \frac{1}{3}(\frac{1}{3})$  =>  $\chi_2 = -A^{-1}(\frac{1}{3}) = A^{-1}(\frac{1}{3})$   
 $= \frac{1}{3}(\frac{1}{3})$   
 $\chi = \chi_1 + \chi_2 = \zeta_1 e^{\frac{1}{3}}(\frac{1}{3}) + (\frac{1}{3})$ 

4) Dominator term

(2 et (1)

(2 et (1)

(3 - 1-1-1)

(1)

The point (-1,-3) is an unstable saddle point.

$$X' = \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix} X$$

1) Find In eight

$$\lambda = \frac{\pi(4)}{2} \pm \frac{1}{2} \left( a^{2} - 4 \cdot 1 \right)$$

$$= \frac{9}{2} \pm \frac{1}{2} \left( a^{2} - 4 \cdot 1 \right)$$

$$7 + a^{2} < 4 \Rightarrow ae(-2,2)$$

2) 
$$V_{1} = \begin{pmatrix} \lambda_{1} \\ C \end{pmatrix} = \begin{pmatrix} \lambda_{1} \\ -1 \end{pmatrix} = \begin{pmatrix} \frac{a}{2} + \frac{1}{2} \sqrt{1a^{2}} 41 \end{pmatrix}$$
 $AV_{1} = \lambda_{1} V_{1}$ 
 $X = C_{1} V_{1} & C_{2} + i \mu_{1} + C_{2} V_{2} & C_{2} - i \mu_{1} & C_{2} V_{2} & C_{2} - i \mu_{1} & C_{2} V_{2} & C_{2} - i \mu_{1} & C_{2} V_{2} & C_{2} & C_{2} - i \mu_{1} & C_{2} & C_{2}$ 

Week 9 Page

. .

$$\frac{1}{3^{2}} = \lambda e^{\lambda t} (-..) + e^{\lambda t} (b \cdot \mu \sin(\mu t) + \alpha \cos(\mu t) \mu)$$

$$\frac{1}{3^{2}} = \lambda e^{\lambda t} (-..) + e^{\lambda t} (-\alpha \mu \sin(\mu t) - b \mu \cos(\mu t))$$

$$= \lambda e^{\lambda t} (-..) + e^{\lambda t} (-\alpha \mu \sin(\mu t) - b \mu \cos(\mu t))$$

$$= \lambda e^{\lambda t} (-..) + e^{\lambda t} (-\alpha \mu \sin(\mu t) - b \mu \cos(\mu t))$$

$$= \lambda e^{\lambda t} (-..) + e^{\lambda t} (-\alpha \mu \sin(\mu t) - b \mu \cos(\mu t))$$

$$= \lambda e^{\lambda t} (-..) + e^{\lambda t} (-\alpha \mu \sin(\mu t) - b \mu \cos(\mu t))$$

$$= \lambda e^{\lambda t} (-..) + e^{\lambda t} (-\alpha \mu \sin(\mu t) - b \mu \cos(\mu t))$$

$$= \lambda e^{\lambda t} (-..) + e^{\lambda t} (-\alpha \mu \sin(\mu t) - b \mu \cos(\mu t))$$

$$X = e^{\lambda t} \left( \begin{pmatrix} \alpha_1 \\ \alpha_2 \end{pmatrix} (os(\mu t) - \begin{pmatrix} b_1 \\ b_2 \end{pmatrix} sin(\mu t) \right)$$

$$= e^{\lambda t} c_1 \left( \begin{pmatrix} \alpha_1 \\ \alpha_2 \end{pmatrix} (os(\mu t) - \begin{pmatrix} b_1 \\ b_2 \end{pmatrix} sin(\mu t) \right)$$

$$= e^{\lambda t} c_2 \left( \begin{pmatrix} b_1 \\ b_2 \end{pmatrix} (os(\mu t) + \begin{pmatrix} \alpha_1 \\ \alpha_2 \end{pmatrix} sin(\mu t) \right)$$

$$= eigenvalu \quad A = A + i \mu \quad A - i \mu$$

$$= eigenvalu \quad V_1 = \begin{pmatrix} \alpha_1 \\ \alpha_2 \end{pmatrix} + i \begin{pmatrix} b_1 \\ b_2 \end{pmatrix}, V_2 = V_1$$

$$= \alpha + i b \quad = \alpha - i b$$

$$V_{\pm} = \begin{pmatrix} \lambda \pm i P \\ -1 \end{pmatrix} = \begin{pmatrix} \lambda - 1 \\ -1 \end{pmatrix} \pm i \begin{pmatrix} b \\ b \end{pmatrix}$$

$$X = \begin{pmatrix} 0/2 \\ C_1 \end{pmatrix} \begin{pmatrix} C_1 \\ -L \end{pmatrix} \begin{pmatrix} C_2 \\ C_1 \end{pmatrix} \begin{pmatrix} C_2 \\ -L \end{pmatrix} \begin{pmatrix} C_$$

Week 9 Page 7

$$\begin{cases} 1 = (-2 - (-2)i) \\ 1 = (-2 - (-2)i) \\ 1 = (-1) + (-2)i \\ 1 = (-2) + (-2)i \\ 1 = (-$$

$$X = e^{at} \left( e^{it} \left( \frac{i}{i} \right) + e^{-it} \left( \frac{i}{i} \right) \right)$$

$$u > 0 \longrightarrow spiral source$$

$$a < 0 \longrightarrow spiral sink$$

a=0 > concerne civeles.

In Second order with repeated eigenvalue we had the ansatz xz=t-ext

Lets the  $\chi_2 = 4 \cdot e^{\lambda t} \cdot \frac{5}{5} \Rightarrow eight$  $\chi_2 = A \times 2 \Rightarrow (e^{\lambda t} \cdot \frac{5}{5}) + 4 \cdot \lambda e^{\lambda t} \cdot 5 = te^{\lambda t} \cdot A \cdot \frac{5}{5}$ 

$$x_{i} = Ax_{2} \Rightarrow (e^{3}\overline{3}) + \frac{1}{4}e^{4}\overline{5} = \frac{1}{4}e^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5}$$

$$= \lambda te^{4}\overline{5} + \lambda te^{4}\overline{5$$

Week 9 Page 9

$$x' = (\frac{z}{oz})x - (\frac{1}{z})$$

$$1) \lambda = 2 \quad 3 = (\frac{1}{0})$$

$$2) (A-\lambda 1)y = (\frac{1}{0})$$

$$3 = (\frac{1}{0}) \quad 3z = 1$$

$$3 = (\frac{1}{0}) \quad 3z = 1$$

$$3 = (\frac{1}{0}) \quad 3z = 1$$

$$3) x = (\frac{1}{0}) = x(\frac{1}{0}) + (\frac{1}{0})$$

$$3) x = (\frac{1}{0}) + (\frac{1}{0}) + (\frac{1}{0}) + (\frac{1}{0}) + (\frac{1}{0})$$

$$4 = e^{2t}(\frac{1}{0}) + (z + e^{2t}(\frac{1}{0}) + (z + e^{2t}(\frac{1}{0}))$$

$$4 = e^{2t}(x + czt)(\frac{1}{0}) + (z + e^{2t}(\frac{1}{0}))$$

$$4 = e^{2t}(x + czt)(\frac{1}{0}) + (z + e^{2t}(\frac{1}{0}))$$

$$4 = e^{2t}(x + czt)(\frac{1}{0}) + (z + e^{2t}(\frac{1}{0}))$$

$$4 = e^{2t}(x + czt)(\frac{1}{0}) + (z + e^{2t}(\frac{1}{0}))$$

Constanten: Assum  $x_{2} = 0 \Rightarrow Ax_{2} = (\frac{1}{2}) \Rightarrow Ax_{2} = (\frac{1}{2}) \Rightarrow \chi_{2} = (\frac{1}{2}) \Rightarrow \chi_{2} = (\frac{1}{2}) \Rightarrow \chi_{3} = (\frac{1}{2}) \Rightarrow \chi_{4} = (\frac{1}{2}) \Rightarrow \chi_{5} = (\frac{1}{2}) \Rightarrow \chi_{6} = (\frac{1}{2}) \Rightarrow \chi_{7} = (\frac{1$ 

Week 9 Page 1

Nonhamogeneas

=> 
$$h' = -h\lambda =$$
  $h = e^{\pi i}$   
 $|i|+1 = e^{\pi i}(\int_{0}^{+} q(s) e^{\pi i s} ds + C)$   
 $|i|+1 = e^{\pi i}(\int_{0}^{+} q(s) e^{\pi i s} ds + C)$   
 $|i|+1 = e^{\pi i}(\int_{0}^{+} q(s) e^{\pi i s} ds + C)$